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DIRECTIONS: 
In each sentence below four words that the printed in 
bold have been lettered (1), (2), (3), (4) and (5). One 
of them may be wrongly spelt or inappropriate in the 
context of the sentence. Find out the word, which is 
wrongly  spelt  or  inappropriate  if  there  is  any.  The 
letter of that word is the answer. 
If all the  words,  which  are printed in bold , are 
correctly spelt and appropriate in the context of the 
sentence, mark (5) as the answer i.e. All correct. 
 
1) The guidelines 1)/ of the new scheme 2)/ are 
expected 3)/ to be finally 4)/ soon. All correct 5)/ 
a) The guidelines b) of the new scheme 
c) are expected  d) to be finally 
e) soon. All correct 
 
2) Many farmers still relie 1)/ on credit 2)/ from 
moneylenders, which is risky 3)/ and inconvenient 4)/ 
All correct 5)/ 
a) Many farmers still relie 
b) on credit 
c) from moneylenders, which is risky 
d) and inconvenient 
e) All correct 
 
3) The main problem 1)/ of education is that 2)/ it is 
not excessible 3)/ to all the people conveniently. 4)/ 
All correct 5)/ 
a) The main problem 
b) of education is that 
c) it is not excessible 
d) to all the people conveniently. 
e) All correct 
 
4) Forecasts 1)/ of oil consumption 2)/ are 
controvercial 3)/ because of excessive 4)/ use of 
vehicles. All correct 5)/ 
a) Forecasts 
b) of oil consumption 
c) are controvercial 
d) because of excessive 

e) use of vehicles. All correct 
 
5) Indian peoples 1)/ invest 2)/ as much 3)/ in gold as 
in bank savings accounts 4)/ All correct 5)/ 
a) Indian peoples 
b) invest 
c) as much 
d) in gold as in bank savings accounts 
e) All correct 
 
6)  There  is  no  guarantee  1)/  that  if  this  model  is 
adopted 2)/ the entire 3)/ sector will prosper. 4)/ All 
correct 5)/ 
a) There is no guarantee 
b) that if this model is adopted 
c) the entire 
d) sector will prosper. 
e) All correct 
 
7) Many Indian firms have entry 1)/ into partnership 
2)/ with foreign 3)/ ones of late 4)/ All correct 5)/ 
a) Many Indian firms have entry 
b) into partnership 
c) with foreign 
d) ones of late 
e) All correct 
 
8)  He  found  1)/ the  company  in  1980  to  provide 2)/ 
electricity  to  people  living  3)/  in  rural  areas  4)/  All 
coorrect 5)/ 
a) He found 
b) the company in 1980 to provide 
c) electricity to people living 
d) in rural areas 
e) All coorrect 
 
9) The family had to bear 1)/ a leaky  sealing 2)/ 
throughout  the  rainy  season  3)/  as  they  could  not 
afford 4)/ to get it repaired. All correct 5)/ 
a) The family had to bear 
b) a leaky sealing 
c) throughout the rainy season 
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d) as they could not afford 
e) to get it repaired. All correct 
 
10) The file contents 1)/ a revised 2)/ estimate 3)/ of 
the banking industry’s manpower requirements 4)/ for 
the next year. All correct 5)/ 
a) The file contents 
b) a revised 
c) estimate 
d) of the banking industry’s manpower requirements 
e) for the next year. All correct 
 
11) The tennis 1)/ and cricket matches 2)/ were 
interpted 3)/ as it began 4)/ to rain. All correct 5)/ 
a) The tennis 
b) and cricket matches 
c) were interpted 
d) as it began 
e) to rain. All correct 
 
12) Exp l ain 1)/ why you bel ieve 2)/ these practices 
3)/ should be discontinued. 4)/ All correct 5)/ 
a) Exp l ain 
b) why you bel ieve 
c) these practices 
d) should be discontinued. 
e) All correct 
 
13) He glanced 1)/ around the room suspisiously, 2)/ 
sure they were 3)/ hiding somewhere. 4)/ All correct 
5)/ 
a) He glanced 
b) around the room suspisiously, 
c) sure they were 
d) hiding somewhere. 
e) All correct 
 
14) The completion 1)/ of the tunnel 2)/ has been held 
3)/ up owning 4)/ to a strike. All correct 5)/ 
a) The completion b) of the tunnel 
c) has been held d) up owning 
e) to a strike. All correct 

 
15)  The  Directr  1)/  spoke  clearly  and  distinctly,  2)/ 
therefore the audience 3)/ could understand 4)/ every 
word he spoke. All correct 5)/ 
a) The Directr 
b) spoke clearly and distinctly, 
c) therefore the audience 
d) could understand 
e) every word he spoke. All correct 
 
16) A majority of Army tanks continue to grope 1)/ in 
the dark, stricken 2)/ as they are with an ecute 3)/ case 
of night blindness 4)/ All correct 5)/ 
a) A majority of Army tanks continue to grope 
b) in the dark, stricken 
c) as they are with an ecute 
d) case of night blindness 
e) All correct 
 
17)  He  firmly  1)/  denied  2)/  that  the  document  3)/ 
existed 4)/ All Correct 5)/ 
a) He firmly  b) denied 
c) that the document d) existed 
e) All Correct 
 
18)  The  perception  1)/  of animal  life  was  even more 
ambigous 2)/ because of anthropomorphic 3)/ 
characterisations  of  animal  behaviour  4)/  All  correct 
5)/ 
a) The perception 
b) of animal life was even more ambigous 
c) because of anthropomorphic 
d) characterisations of animal behaviour 
e) All correct 
 
19) It is better 1)/ to die 2)/ on your feet then 3)/ live 
4)/ on your knees. All correct 5)/ 
a) It is better  b) to die 
c) on your feet then d) live 
e) on your knees. All correct 
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20)  She  trusted  Mira  with  all  her  heart  1)/  and  thus 
handled 2)/ over her life's 3)/ savings to her instantly 
4)/ All correct 5)/ 
a) She trusted Mira with all her heart 
b) and thus handled 
c) over her life's 
d) savings to her instantly 
e) All correct 
 
21) The robers 1)/ tried to get 2)/ into the house 3)/ 
through the balcony 4)/ All correct 5)/ 
a) The robers   
b) tried to get 
c) into the house  
d) through the balcony 
e) All correct 
 
22) This time I was compelled 1)/ to leave him 
unpunished 2)/ although he deserved severe 3)/ 
punishment for breech of rules. 4)/ All correct 5)/ 
a) This time I was compelled 
b) to leave him unpunished 
c) although he deserved severe 
d) punishment for breech of rules. 
e) All correct 
 
23)  We  have  prepared  a  detailed  1)/  report  giving 
various 2)/ solutions 3)/ to resort 4)/ the problem. All 
correct 5)/ 
a) We have prepared a detailed 
b) report giving various 
c) solutions 
d) to resort 
e) the problem. All correct 
 
24) On an average 1)/ there are very few persons wil l 
ingly  2)/  to  take  on  3)/  such  responsibility.  4)/  All 
correct 5)/ 
a) On an average 
b) there are very few persons wil l ingly 
c) to take on 
d) such responsibility. 

e) All correct 
 
25)  Shall  I  write  1)/  a  lettr  2)/  to  him  or  would  you 
prefer 3)/ to call 4)/ him? All correct 5)/ 
a) Shall I write 
b) a lettr 
c) to him or would you prefer 
d) to call 
e) him? All correct 
 
26) A leader who relies 1)/ on his team members 2)/ 
for advice 3)/ is respected 4)/ All correct 5)/ 
a) A leader who relies 
b) on his team members 
c) for advice 
d) is respected 
e) All correct 
 
27) The Government administration is required to 
undergo  1)/  a  radicle  2)/  transformation  for  better 
service orientation 3)/ All correct 4)/ 5)/ 
a) The Government administration is required to 
undergo 
b) a radicle 
c) transformation for better service orientation 
d) All correct 
 
28) Non-communicable 1)/ diseases 2)/ are a major 3)/ 
concerned 4)/ for people in this region. All correct 5)/ 
a) Non-communicable 
b) diseases 
c) are a major 
d) concerned 
e) for people in this region. All correct 
 
29) Since he has provided 1)/ over halve 2)/ the finance 
for the infrastructure 3)/ he shouldbe in charge 4)/ All 
correct 5)/ 
a) Since he has provided 
b) over halve 
c) the finance for the infrastructure 
d) he shouldbe in charge 
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e) All correct 
 
30) The scheme 1)/ was launched to allow 2)/ a 
customer to know the states 3)/ of his loan application. 
All correct 4)/ 5)/ 
a) The scheme 
b) was launched to allow 
c) a customer to know the states 
d) of his loan application. All correct 
 
31) Owing 1)/ to scarsity 2)/ of water, the 
metropolitan 3)/ city of Mumbai is passing through 4)/ 
a hard time. All correct 5)/ 
a) Owing 
b) to scarsity 
c) of water, the metropolitan 
d) city of Mumbai is passing through 
e) a hard time. All correct 
 
32)  Even  though  the  state  has  been  witnessing  1)/ 
deaths on a daily basis, 2)/ it has not hindered 3)/ the 
festivity 4)/ spirit of the people. All correct 5)/ 
a) Even though the state has been witnessing 
b) deaths on a daily basis, 
c) it has not hindered 
d) the festivity 
e) spirit of the people. All correct 
 
33) Meditation 1)/ enables 2)/ us to acquire piece 3)/ 
and tranquility 4)/ All correct 5)/ 
a) Meditation 
b) enables 
c) us to acquire piece 
d) and tranquility 
e) All correct 
 
34)  RBI  has  attempted  1)/  to  spend  2)/  financial  3)/ 
awareness 4)/ through this programme. All correct 5)/ 
a) RBI has attempted b) to spend 
c) financial  d) awareness 
e) through this programme. All correct 
 

 
35) He has proved 1)/ his reliability 2)/ and integrity 
3)/ in accomplishing 4)/ a task. All correct 5)/ 
a) He has proved 
b) his reliability 
c) and integrity 
d) in accomplishing 
e) a task. All correct 
 
36)  By  far  the  most  urgent  1)/  need  of  industry  in 
journal  2)/  and  of  IT  industry  in  particular  3)/  is  the 
need for skilled 4)/ manpower. All correct 5)/ 
a) By far the most urgent 
b) need of industry in journal 
c) and of IT industry in particular 
d) is the need for skilled 
e) manpower. All correct 
 
37)  The  mother  and  her  daughter  1)/  were  happily 
selling milk which got them enough 2)/ money to leed 
3)/ a comfortable 4)/ life. All correct 5)/ 
a) The mother and her daughter 
b) were happily selling milk which got them enough 
c) money to leed 
d) a comfortable 
e) life. All correct 
 
38) Tackl ing 1)/ potentially 2)/ violent 3)/ creaminals 
4)/ is not free from risk. All correct 5)/ 
a) Tackl ing   
b) potentially 
c) violent   
d) creaminals 
e) is not free from risk. All correct 
 
39) Even though the proposal appearrs 1)/ practical 2)/ 
the  committee  should  discuss  3)/  it  at  length  4)/  All 
correct 5)/ 
a) Even though the proposal appearrs 
b) practical 
c) the committee should discuss 
d) it at length 
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e) All correct 
 
40)  The  approach 1)/  of  parents’  participation  2)/  in 
education  acknowleges 3)/ the social  dimensions 4)/ 
of this issue. All correct 5)/ 
a) The approach 
b) of parents’ participation 
c) in education acknowleges 
d) the social dimensions 
e) of this issue. All correct 
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